Développements limités usuels

(au voisinage de 0)

2 "

T _q x T n
e = +ﬂ+§+"'+m+0(3})

2 $4 x?n _—
Ch$:1+§+z+"'+(2n)!+0(l‘ )

.',CS 1/.5 $2n+1 S
ShJTZZL’—Fg—i—E—F""Fm—FO(I )
th x3+25 17 7+<8>

r=x——+—2°——z' +o(z

3 15 315

z? n T 2n+1
Cosx:1—§+z+~--+(—l).(2n)!+0(x )
) :L.3 1.5 . $2n+1 S

x? 2

17
tanx =+ — + —2° 7 8
a + 3 +15x +315x + o(x®)

(1+$)a:1+ax+Mx2+ ala—1)---(a—=n+1)

sl r e (S o)
——=l—-a+2°+ -+ (-1)"2" + o(x
1+z
1 1.1.35...(2n -3
vl—l—l‘:1—|—E——x2+~~~+(—1)”71. (2n )x"—i—o(q;")
2 8 2nn!
1 r 3 1.3.5...(2n — 1)
:1—— — 2 [P _1 TL. n n
1+ 2+8x—|— +(=1) ] " 4 o(z")
2 3 o
In (1 — T (=) n
n(l+z)==x Tt +(-1) n+0(93)
3 45 2t -
th © = B n+
argth x x+3—|—5+ —|—2n+1+o(x )
3 5 1
aI‘CtaH]?::L’—%+%+...+(_1>n'2xn+1+0<$2n+2)
12% 345 1.3.5...(2n — 1) 27+
h = _——— —_—— e _1 7’L. 27’L+2
argsh v =z =5 +g5+ -+ 2] 1 o)
: 12 32° 1.35...(2n — 1) g1 —
arcsin © = x + 53 Tt Sl 1 + o(x*"™*)



